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TINWSHARN X0 KY ANt — Over there its use is not convenient

Overview

The X1 states that a n™7 17 does not have the status of “»7 7"772 73" ™MnN
because P nwnwn X1 X7, It would follow that in a case where it is X3
7 nwwn it would be considered as a 7'"737. NMYOIN question is, that since X
7"77 1S more 7 NWRWN X1 than a N7 7R 1t should have the same status as
2"59 .

ST 293757 NS IRY 1139% 25397 N 978y — The 2'"719 978, however, do not
have the status of a 2'";71 according to the 3339, who argue with '1y"9x "1

N9T JPR DY NRIRWN RNIT 23 YV KR — even though the use of "1 7Y is

more convenient than a n%7 399, which would therefore lead one to believe that
7"77 77% should be %7 1"773, similar to 7"77 A,

How do we know that 7"77 °7¥ is a more convenient usage than a N7 17p?

nvYIN continues:

29277 NN 97X A9DT MYIVR 937 99ER K77 — for even 7YX "1 who argues

in the case of 9"/ 57X, and maintains that they are 7 2"772 (as opposed to the 7327
who maintain that °»7 n°9722 89X "7 1"7772 18D 1"77 °7%), nevertheless —

bsy AWSNBTS MO 1Pa 17% — he admits that a nsYr 399 is *n7 non0, as 1

have explained previously?. We see that 7"77 >7% is more >nw»wn Xl than a 17p
i, which explains why 2199 ' maintains that a n>7 399 is a n°%»3, while "77 >7%
17 2"770. It should follow therefore, that since °»7 2"775 2"77 71, we should confer
(even according to the 7127), on the 1"77 »7X the status of 13"77 »71, which according to
"R are »7 1"1173. Why therefore do the 1127 maintain that *»7 9"775 18 2"77 78?2

mooIn responds:

292777 NI IS 1T RY 977 99X — nevertheless it does not have the status
of 9719

DY TINWORWAN RIS 2377 M 31T — for the usage of 9''7719 9717 is more
convenient than the usage of 7" >73.

Summary
There are different levels of Pnw nwn X1 discussed in our MdOIN. The least

TNWRYN R 1s a N7 1R, the most 1s 1"77 0, and 1"'77 07X 1s somewhere
in between. In order for an area to be recognized as an extension of the 7"77
it must have the convenience of at least 71"77 731, anything less, even if it
has the convenience of 7"177 *7X is not sufficient to render it a 7"77.

' See xma previously X, 7.
2 See ¥ XY "7 R,7'01N
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Thinking it over
What concept, can we say, changed from nms21n question to his answer?

What may be the practical reason why 1"717 °7I117 are more 7> nw*Awn X1 than
2" 07X



